Spring 2015 Summary Report

ORNEITA BURTON

	Course Sections	Enrolled Students	Responded Students	Response Rate
Α	IS 410 (01): Enterprise Resource Plan Sys	12	12	100%
В	MGMT 331 (01): Operations Management	29	28	96.55%
C	MGMT 331 (02): Operations Management	39	38	97.44%
	Overall	80	78	97.5%

Describe the frequency of your instructor's teaching procedures.											
The I	nstructor:										
	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses		
Disp	layed a person	al interest in s	tudents and th	neir learning							
Α	0% (0)	8.33% (1)	8.33% (1)	33.33% (4)	50% (6)	4.25	0.92	0	12		
В	7.14% (2)	3.57% (1)	7.14% (2)	42.86% (12)	39.29% (11)	4.04	1.12	0	28		
С	5.26% (2)	5.26% (2)	23.68% (9)	42.11% (16)	23.68% (9)	3.74	1.04	0	38		
Foun	Found ways to help students answer their own questions										
Α	0% (0)	16.67% (2)	8.33% (1)	66.67% (8)	8.33% (1)	3.67	0.85	0	12		
В	7.14% (2)	14.29% (4)	35.71% (10)	28.57% (8)	14.29% (4)	3.29	1.1	0	28		
С	23.68% (9)	23.68% (9)	31.58% (12)	18.42% (7)	2.63% (1)	2.53	1.12	0	38		
Sche	duled course	work (class ac	tivities, tests,	projects) in wa	ys which encouraged studer	its to sta	y up-to-date	in their w	ork		
Α	8.33% (1)	25% (3)	33.33% (4)	16.67% (2)	16.67% (2)	3.08	1.19	0	12		
В	3.57% (1)	17.86% (5)	25% (7)	39.29% (11)	14.29% (4)	3.43	1.05	0	28		
С	7.89% (3)	18.42% (7)	21.05% (8)	42.11% (16)	10.53% (4)	3.29	1.12	0	38		
Dem	onstrated the i	mportance and	d significance	of the subject	matter						

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Respons
\	8.33% (1)	16.67% (2)	8.33% (1)	33.33% (4)	33.33% (4)	3.67	1.31	0	12
3	10.71% (3)	25% (7)	25% (7)	17.86% (5)	21.43% (6)	3.14	1.3	0	28
;	10.53% (4)	26.32% (10)	23.68% (9)	36.84% (14)	2.63% (1)	2.95	1.07	0	38
orm	ned "teams" or	"discussion g	roups" to faci	litate learning					
A	0% (0)	16.67% (2)	16.67% (2)	50% (6)	16.67% (2)	3.67	0.94	0	12
3	7.14% (2)	0% (0)	14.29% (4)	39.29% (11)	39.29% (11)	4.04	1.09	0	28
;	0% (0)	10.53% (4)	21.05% (8)	39.47% (15)	28.95% (11)	3.87	0.95	0	38
ade	e it clear how e	each topic fit in	to the course						
\	0% (0)	0% (0)	41.67% (5)	50% (6)	8.33% (1)	3.67	0.62	0	12
3	14.29% (4)	35.71% (10)	21.43% (6)	17.86% (5)	10.71% (3)	2.75	1.21	0	28
;	28.95% (11)	34.21% (13)	15.79% (6)	15.79% (6)	5.26% (2)	2.34	1.2	0	38
φl	ained the reas	ons for criticis	ms of student	s' academic p	erformance				
\	16.67% (2)	0% (0)	33.33% (4)	33.33% (4)	16.67% (2)	3.33	1.25	0	12
	21.43% (6)	21.43% (6)	28.57% (8)	17.86% (5)	10.71% (3)	2.75	1.27	0	28
	21.05% (8)	28.95% (11)	26.32% (10)	18.42% (7)	5.26% (2)	2.58	1.16	0	38
im	ulated student	s to intellectua	ıl effort beyon	d that require	d by most courses				
	16.67% (2)	0% (0)	25% (3)	41.67% (5)	16.67% (2)	3.42	1.26	0	12
3	17.86% (5)	32.14% (9)	21.43% (6)	21.43% (6)	7.14% (2)	2.68	1.2	0	28
;	23.68%	28.95% (11)	31.58% (12)	10.53% (4)	5.26% (2)	2.45	1.12	0	38

The Instructor:

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses
Α	8.33% (1)	8.33% (1)	16.67% (2)	33.33% (4)	33.33% (4)	3.75	1.23	0	12
В	17.86% (5)	21.43% (6)	21.43% (6)	17.86% (5)	21.43% (6)	3.04	1.4	0	28
С	15.79% (6)	36.84% (14)	18.42% (7)	23.68% (9)	5.26% (2)	2.66	1.15	0	38
Expla	ained course n	naterial clearly	and concisely	<i>'</i>					
Α	16.67% (2)	16.67% (2)	50% (6)	8.33% (1)	8.33% (1)	2.75	1.09	0	12
В	17.86% (5)	28.57% (8)	32.14% (9)	21.43% (6)	0% (0)	2.57	1.02	0	28
С	55.26% (21)	21.05% (8)	18.42% (7)	2.63% (1)	2.63% (1)	1.76	1.01	0	38

Describe the frequency of your instructor's teaching procedures.

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses		
Relat	Related course material to real life situations										
Α	0% (0)	8.33% (1)	8.33% (1)	58.33% (7)	25% (3)	4	0.82	0	12		
В	7.14% (2)	14.29% (4)	14.29% (4)	50% (14)	14.29% (4)	3.5	1.12	0	28		
С	10.53% (4)	26.32% (10)	26.32% (10)	31.58% (12)	5.26% (2)	2.95	1.1	0	38		
Gave	Gave tests, projects, etc. that covered the most important points of the course										
Α	16.67% (2)	8.33% (1)	8.33% (1)	41.67% (5)	25% (3)	3.5	1.38	0	12		
В	14.29% (4)	14.29% (4)	25% (7)	32.14% (9)	14.29% (4)	3.18	1.26	0	28		
С	18.42% (7)	34.21% (13)	21.05% (8)	23.68% (9)	2.63% (1)	2.58	1.12	0	38		
Intro	Introduced stimulating ideas about the subject										
Α	8.33% (1)	8.33% (1)	33.33% (4)	33.33% (4)	16.67% (2)	3.42	1.11	0	12		

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Response
В	21.43% (6)	28.57% (8)	32.14% (9)	10.71% (3)	7.14% (2)	2.54	1.15	0	28
С	21.05% (8)	39.47% (15)	23.68% (9)	13.16% (5)	2.63% (1)	2.37	1.04	0	38
Invol	lved students	in "hands on"	projects such	as research, c	ase studies, or "real life" activ	vities			
Α	8.33% (1)	0% (0)	0% (0)	50% (6)	41.67% (5)	4.17	1.07	0	12
В	10.71% (3)	7.14% (2)	10.71% (3)	50% (14)	21.43% (6)	3.64	1.2	0	28
С	2.63% (1)	23.68% (9)	28.95% (11)	39.47% (15)	5.26% (2)	3.21	0.95	0	38
Inspi	ired students t	o set and achie	eve goals whic	ch really challe	nged them				
Α	8.33% (1)	8.33% (1)	8.33% (1)	50% (6)	25% (3)	3.75	1.16	0	12
В	21.43% (6)	17.86% (5)	28.57% (8)	28.57% (8)	3.57% (1)	2.75	1.18	0	28
С	18.42% (7)	39.47% (15)	21.05% (8)	18.42% (7)	2.63% (1)	2.47	1.07	0	38
Aske	ed students to	share ideas an	d experiences	with others w	hose backgrounds and viewp	oints dif	fer from the	ir own	
Α	16.67% (2)	8.33% (1)	33.33% (4)	25% (3)	16.67% (2)	3.17	1.28	0	12
В	25% (7)	28.57% (8)	17.86% (5)	21.43% (6)	7.14% (2)	2.57	1.27	0	28
С	21.05% (8)	34.21% (13)	18.42% (7)	21.05% (8)	5.26% (2)	2.55	1.19	0	38
Prov	ided timely an	d frequent feed	dback on tests	, reports, proje	ects, etc. to help students imp	rove			
Α	8.33% (1)	16.67% (2)	25% (3)	33.33% (4)	16.67% (2)	3.33	1.18	0	12
В	3.57% (1)	10.71% (3)	21.43% (6)	32.14% (9)	32.14% (9)	3.79	1.11	0	28
С	7.89% (3)	23.68% (9)	13.16% (5)	31.58% (12)	23.68% (9)	3.39	1.29	0	38
Aske	ed students to	help each othe	er understand i	ideas or conce	pts				
Α	8.33%	0%	25%	8.33%	58.33%	4.08	1.26	0	12

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses
В	3.57% (1)	17.86% (5)	32.14% (9)	35.71% (10)	10.71% (3)	3.32	1	0	28
С	5.26% (2)	36.84% (14)	23.68% (9)	28.95% (11)	5.26% (2)	2.92	1.04	0	38
Gave	projects, test	s, or assignme	nts that requir	ed original or	creative thinking				
Α	0% (0)	8.33% (1)	16.67% (2)	66.67% (8)	8.33% (1)	3.75	0.72	0	12
В	7.14% (2)	14.29% (4)	21.43% (6)	28.57% (8)	28.57% (8)	3.57	1.24	0	28
C	10.53% (4)	28.95% (11)	26.32% (10)	28.95% (11)	5.26% (2)	2.89	1.1	0	38
Enco	ouraged studer	nt-faculty intera	action outside	of class (office	e visits, phone calls, e-mail, e	tc.)			
Α	8.33% (1)	0% (0)	16.67% (2)	50% (6)	25% (3)	3.83	1.07	0	12
В	14.29% (4)	14.29% (4)	7.14% (2)	50% (14)	14.29% (4)	3.36	1.29	0	28
С	13.16% (5)	34.21% (13)	18.42% (7)	26.32% (10)	7.89% (3)	2.82	1.19	0	38

Progress On:											
	No Apparent Progress	Slight Progress	Moderate Progress	Substantial Progress	Exceptional Progress	Mean	Standard Deviation	Did Not Answer	Total Responses		
Gain	Gaining factual knowledge (terminology, classifications, methods, trends)										
Α	0% (0)	16.67% (2)	16.67% (2)	66.67% (8)	0% (0)	3.5	0.76	0	12		
В	10.71% (3)	17.86% (5)	32.14% (9)	32.14% (9)	7.14% (2)	3.07	1.1	0	28		
С	18.42% (7)	47.37% (18)	26.32% (10)	7.89% (3)	0% (0)	2.24	0.84	0	38		
Lear	ning fundamer	ntal principles,	generalization	ns, or theories							
Α	8.33% (1)	8.33% (1)	16.67% (2)	58.33% (7)	8.33% (1)	3.5	1.04	0	12		
В	3.57% (1)	21.43% (6)	32.14% (9)	28.57% (8)	14.29% (4)	3.29	1.06	0	28		

Progr	ress On:										
	No Apparent Progress	Slight Progress	Moderate Progress	Substantial Progress	Exceptional Progress	Mean	Standard Deviation	Did Not Answer	Total Responses		
С	18.42% (7)	39.47% (15)	36.84% (14)	2.63% (1)	2.63% (1)	2.32	0.89	0	38		
earı	ning to <i>apply</i>	course mater	ial (to improve	thinking, probl	em solving, and decis	sions)					
Α	16.67% (2)	16.67% (2)	33.33% (4)	33.33% (4)	0% (0)	2.83	1.07	0	12		
В	10.71% (3)	25% (7)	21.43% (6)	35.71% (10)	7.14% (2)	3.04	1.15	0	28		
С	26.32% (10)	34.21% (13)	28.95% (11)	10.53% (4)	0% (0)	2.24	0.96	0	38		
Developing specific skills, competencies, and points of view needed by professionals in the field most closely related to this course											
A	16.67% (2)	8.33% (1)	58.33% (7)	16.67% (2)	0% (0)	2.75	0.92	0	12		
В	17.86% (5)	17.86% (5)	21.43% (6)	32.14% (9)	10.71% (3)	3	1.28	0	28		
С	23.68% (9)	47.37% (18)	26.32% (10)	2.63% (1)	0% (0)	2.08	0.77	0	38		
cqu	uiring skills ir	n working with	others as a m	ember of a tear	n						
A	0% (0)	41.67% (5)	8.33% (1)	41.67% (5)	8.33% (1)	3.17	1.07	0	12		
В	10.71% (3)	14.29% (4)	17.86% (5)	39.29% (11)	17.86% (5)	3.39	1.23	0	28		
С	15.79% (6)	23.68% (9)	26.32% (10)	31.58% (12)	2.63% (1)	2.82	1.12	0	38		
eve	eloping creati	ve capacities ((writing, invent	ting, designing	, performing in art, mu	usic, drama, etc.)					
A	33.33% (4)	41.67% (5)	16.67% (2)	8.33% (1)	0% (0)	2	0.91	0	12		
В	32.14% (9)	42.86% (12)	7.14% (2)	17.86% (5)	0% (0)	2.11	1.05	0	28		
С	50% (19)	34.21% (13)	13.16% (5)	2.63% (1)	0% (0)	1.68	0.8	0	38		
ain	ing a broade	r understandin	ng and apprecia	ation of intelled	tual/cultural activity (music, science, l	iterature, et	c.)			
Α	16.67% (2)	41.67% (5)	25% (3)	16.67% (2)	0% (0)	2.42	0.95	0	12		
В	32.14% (9)	21.43% (6)	28.57% (8)	17.86% (5)	0% (0)	2.32	1.1	0	28		

Progress On:											
	No Apparent Progress	Slight Progress	Moderate Progress	Substantial Progress	Exceptional Progress		Mean	Standard Deviation	Did Not Answer	Total Responses	
С	50% (19)	39.47% (15)	10.53% (4)	0% (0)	0% (0)		1.61	0.67	0	38	
Deve	eloping skill in	expressing m	yself orally or	in writing							
Α	33.33% (4)	41.67% (5)	16.67% (2)	8.33% (1)	0% (0)		2	0.91	0	12	
В	21.43% (6)	32.14% (9)	21.43% (6)	25% (7)	0% (0)		2.5	1.09	0	28	
С	52.63% (20)	42.11% (16)	2.63% (1)	2.63% (1)	0% (0)		1.55	0.68	0	38	
Lear	ning how to fir	nd and use res	ources for an	swering questi	ons or solving proble	ems					
Α	0% (0)	25% (3)	25% (3)	33.33% (4)	16.67% (2)		3.42	1.04	0	12	
В	17.86% (5)	25% (7)	35.71% (10)	21.43% (6)	0% (0)		2.61	1.01	0	28	
С	31.58% (12)	47.37% (18)	13.16% (5)	5.26% (2)	2.63% (1)		2	0.95	0	38	
Deve	Developing a clearer understanding of, and commitment to, personal values										
Α	8.33% (1)	58.33% (7)	8.33% (1)	16.67% (2)	8.33% (1)		2.58	1.11	0	12	
В	14.29% (4)	28.57% (8)	7.14% (2)	32.14% (9)	17.86% (5)		3.11	1.37	0	28	
С	31.58% (12)	28.95% (11)	26.32% (10)	7.89% (3)	5.26% (2)		2.26	1.14	0	38	
Lear	ning to <i>analyz</i> e	e and <i>criticall</i> y	v evaluate idea	ıs, arguments,	and points of view						
Α	25% (3)	16.67% (2)	25% (3)	33.33% (4)	0% (0)		2.67	1.18	0	12	
В	21.43% (6)	25% (7)	3.57% (1)	39.29% (11)	10.71% (3)		2.93	1.39	0	28	
С	31.58% (12)	26.32% (10)	34.21% (13)	5.26% (2)	2.63% (1)		2.21	1.03	0	38	
Acqu	uiring an intere	est in learning	more by askin	ng my own que	stions and seeking a	nswers					
Α	8.33% (1)	25% (3)	25% (3)	33.33% (4)	8.33% (1)		3.08	1.11	0	12	
В	21.43% (6)	21.43% (6)	14.29% (4)	32.14% (9)	10.71% (3)		2.89	1.35	0	28	
С	34.21% (13)	34.21% (13)	23.68% (9)	2.63% (1)	5.26% (2)		2.11	1.07	0	38	

On the next three items, compare this course with others you have taken at this institution.

Τ	he	Cou	rse:

	Much Less than Most Courses	Less than Most Courses	About Average	More than Most Courses	Much More than Most Courses	Mean	Standard Deviation	Did Not Answer	Total Responses
Amo	unt of reading								
Α	0% (0)	0% (0)	58.33% (7)	33.33% (4)	8.33% (1)	3.5	0.65	0	12
В	14.29% (4)	42.86% (12)	39.29% (11)	3.57% (1)	0% (0)	2.32	0.76	0	28
С	21.05% (8)	39.47% (15)	31.58% (12)	7.89% (3)	0% (0)	2.26	0.88	0	38
Amo	unt of work in	other (non-rea	ding) assignm	ents					
Α	0% (0)	8.33% (1)	16.67% (2)	50% (6)	25% (3)	3.92	0.86	0	12
В	0% (0)	10.71% (3)	50% (14)	32.14% (9)	7.14% (2)	3.36	0.77	0	28
С	0% (0)	10.53% (4)	57.89% (22)	23.68% (9)	7.89% (3)	3.29	0.76	0	38
Diffic	culty of subjec	t matter							
Α	0% (0)	8.33% (1)	25% (3)	50% (6)	16.67% (2)	3.75	0.83	0	12
В	0% (0)	17.86% (5)	32.14% (9)	42.86% (12)	7.14% (2)	3.39	0.86	0	28
С	0% (0)	13.16% (5)	47.37% (18)	28.95% (11)	10.53% (4)	3.37	0.84	0	38

Describe vour attitudes a	and behavior in this course.

I worked harder on this course than on most courses I have taken.

DC3C	beschibe your attitudes and behavior in this course.											
	Definitely False	More False than True	In Between	More True than False	Definitely True	Mean	Standard Deviation	Did Not Answer	Total Responses			
I had	a strong desi	re to take this	course.									
Α	0% (0)	8.33% (1)	50% (6)	25% (3)	16.67% (2)	3.5	0.87	0	12			
В	21.43% (6)	46.43% (13)	21.43% (6)	7.14% (2)	3.57% (1)	2.25	0.99	0	28			
С	42.11% (16)	39.47% (15)	13.16% (5)	5.26% (2)	0% (0)	1.82	0.85	0	38			

								,		
Desc	ribe your attitu	udes and behavi	or in this course	€.						
	Definitely False	More False than True	In Between	More True than False	Definitely True		Mean	Standard Deviation	Did Not Answer	Total Respons
Α	0% (0)	33.33% (4)	8.33% (1)	41.67% (5)	16.67% (2)		3.42	1.11	0	12
В	14.29% (4)	32.14% (9)	35.71% (10)	10.71% (3)	7.14% (2)		2.64	1.08	0	28
С	10.53% (4)	31.58% (12)	34.21% (13)	21.05% (8)	2.63% (1)		2.74	0.99	0	38
rea	lly wanted to	take a course f	rom this instru	ıctor.						
Α	8.33% (1)	25% (3)	50% (6)	8.33% (1)	8.33% (1)		2.83	0.99	0	12
В	21.43% (6)	32.14% (9)	39.29% (11)	7.14% (2)	0% (0)		2.32	0.89	0	28
С	44.74% (17)	42.11% (16)	5.26% (2)	7.89% (3)	0% (0)		1.76	0.87	0	38
rea	lly wanted to	take this cours	e regardless o	f who taught i	t.					
Α	0% (0)	25% (3)	41.67% (5)	16.67% (2)	16.67% (2)		3.25	1.01	0	12
В	28.57% (8)	25% (7)	32.14% (9)	10.71% (3)	3.57% (1)		2.36	1.11	0	28
С	39.47% (15)	23.68% (9)	23.68% (9)	13.16% (5)	0% (0)		2.11	1.07	0	38
As a	result of taki	ng this course,	I have more p	ositive feeling	s toward this fiel	d of study.				
Α	8.33% (1)	16.67% (2)	25% (3)	25% (3)	25% (3)		3.42	1.26	0	12
В	32.14% (9)	17.86% (5)	28.57% (8)	17.86% (5)	3.57% (1)		2.43	1.21	0	28
С	44.74% (17)	21.05% (8)	18.42% (7)	13.16% (5)	2.63% (1)		2.08	1.18	0	38
Desc		(8) udes and behavi			(1)					
									Did	

Desc	Describe your attitudes and behavior in this course.											
	Definitely False	More False than True	In Between	More True than False	Definitely True	Mean	Standard Deviation	Did Not Answer	Total Responses			
Over	Overall, I rate this instructor an excellent teacher.											
Α	8.33% (1)	8.33% (1)	25% (3)	41.67% (5)	16.67% (2)	3.5	1.12	0	12			
В	17.86% (5)	17.86% (5)	35.71% (10)	17.86% (5)	10.71% (3)	2.86	1.22	0	28			

						Spring 20)15 Summ	ary Report - (Orneita Burl	ton - 2/15/201
Desc	ribe your attitu	udes and behavi	or in this course) .						
	Definitely False	More False than True	In Between	More True than False	Definitely True		Mean	Standard Deviation	Did Not Answer	Total Response
С	28.95% (11)	28.95% (11)	23.68% (9)	15.79% (6)	2.63% (1)		2.34	1.13	0	38
Over	rall, I rate this	course as exc	ellent.							
Α	8.33% (1)	25% (3)	25% (3)	41.67% (5)	0% (0)		3	1	0	12
В	28.57% (8)	17.86% (5)	35.71% (10)	10.71% (3)	7.14% (2)		2.5	1.21	0	28
С	34.21% (13)	21.05% (8)	28.95% (11)	13.16% (5)	2.63% (1)		2.29	1.14	0	38
For tl	he following ite	ems, choose the	option that bes	t corresponds t	o your judgement.					
	Definitely False	More False than True	In Between	More True than False	Definitely True		Mean	Standard Deviation	Did Not Answer	Total Response
As a	rule, I put for	rth more effort t	than other stud	dents on acad	emic work.					
Α	0% (0)	25% (3)	25% (3)	33.33% (4)	16.67% (2)		3.42	1.04	0	12
В	0% (0)	25% (7)	32.14% (9)	42.86% (12)	0% (0)		3.18	0.8	0	28
С	2.63% (1)	10.53% (4)	36.84% (14)	42.11% (16)	7.89% (3)		3.42	0.88	0	38
The i	instructor us	ed a variety of r	nethodsnot o	only teststo e	valuate student p	orogress on c	ourse ob	jectives.		
Α	8.33% (1)	16.67% (2)	8.33% (1)	33.33% (4)	33.33% (4)		3.67	1.31	0	12
В	3.57% (1)	10.71% (3)	14.29% (4)	39.29% (11)	32.14% (9)		3.86	1.09	0	28
С	2.63% (1)	10.53% (4)	26.32% (10)	44.74% (17)	15.79% (6)		3.61	0.96	0	38
The i	instructor ex	pected students	s to take their	share of respo	nsibility for learn	ing.				
Α	0% (0)	16.67% (2)	0% (0)	25% (3)	58.33% (7)		4.25	1.09	0	12
В	3.57% (1)	3.57% (1)	17.86% (5)	32.14% (9)	42.86% (12)		4.07	1.03	0	28
С	2.63% (1)	2.63% (1)	15.79% (6)	44.74% (17)	34.21% (13)		4.05	0.92	0	38

The instructor had high achievement standards in this class.

For the following items:	choose the option	that best corresponds	to vour judgement
i or the following iterno	, or loode the option	that boot confedence	to your judgernort.

	Definitely False	More False than True	In Between	More True than False	Definitely True	Mean	Standard Deviation	Did Not Answer	Total Responses
Α	0% (0)	16.67% (2)	8.33% (1)	25% (3)	50% (6)	4.08	1.11	0	12
В	7.14% (2)	7.14% (2)	28.57% (8)	35.71% (10)	21.43% (6)	3.57	1.12	0	28
С	0% (0)	13.16% (5)	23.68% (9)	44.74% (17)	18.42% (7)	3.68	0.92	0	38
The i		l educational to	echnology (e.g	ı. Internet, e-m	ail, computer exercises, multi	-media p	resentation	s, etc.) to	promote
	0 220/	∩0/	0 220/	Ω0/	02 220/	15	1 10	0	10

learr	earning.											
A	8.33% (1)	0% (0)	8.33% (1)	0% (0)	83.33% (10)	4.5	1.19	0	12			
В	3.57% (1)	3.57% (1)	7.14% (2)	32.14% (9)	53.57% (15)	4.29	0.99	0	28			
С	0% (0)	7.89% (3)	18.42% (7)	42.11% (16)	31.58% (12)	3.97	0.9	0	38			

Six learning outcomes are listed below. Please describe the amount of progress you made on each outcome even if the wording is similar to previously asked survey items.

	No Apparent Progress	Slight Progress	Moderate Progress	Substantial Progress	Exceptional Progress	Mean	Standard Deviation	Did Not Answer	Total Responses
Deve	loping knowle	dge and under	rstanding of di	verse perspec	tives, global awareness, or otl	her cultu	ires		
Α	16.67% (2)	33.33% (4)	33.33% (4)	16.67% (2)	0% (0)	2.5	0.96	0	12
В	10.71% (3)	32.14% (9)	25% (7)	25% (7)	7.14% (2)	2.86	1.12	0	28
С	28.95% (11)	42.11% (16)	18.42% (7)	10.53% (4)	0% (0)	2.11	0.94	0	38
Deve	loping ethical	reasoning and	l/or ethical dec	ision making					
Α	8.33% (1)	50% (6)	16.67% (2)	8.33% (1)	16.67% (2)	2.75	1.23	0	12
В	7.14% (2)	21.43% (6)	17.86% (5)	35.71% (10)	17.86% (5)	3.36	1.2	0	28
С	15.79% (6)	31.58% (12)	28.95% (11)	15.79% (6)	7.89% (3)	2.68	1.15	0	38
Learı	ning to apply k	nowledge and	skills to bene	fit others or se	rve the public good				
Α	8.33% (1)	33.33% (4)	41.67% (5)	8.33% (1)	8.33% (1)	2.75	1.01	0	12

Six learning outcomes are listed below. Please describe the amount of progress you made on each outcome even if the wording is similar to previously asked survey items.

•	•	•								
	No Apparent Progress	Slight Progress	Moderate Progress	Substantial Progress	Exceptional Progress	Mean	Standard Deviation	Did Not Answer	Total Responses	
В	21.43% (6)	14.29% (4)	17.86% (5)	32.14% (9)	14.29% (4)	3.04	1.38	0	28	
С	23.68% (9)	31.58% (12)	23.68% (9)	15.79% (6)	5.26% (2)	2.47	1.16	0	38	
Learning appropriate methods for collecting, analyzing, and interpreting numerical information										
Α	8.33% (1)	16.67% (2)	33.33% (4)	25% (3)	16.67% (2)	3.25	1.16	0	12	
В	17.86% (5)	17.86% (5)	21.43% (6)	35.71% (10)	7.14% (2)	2.96	1.24	0	28	
С	31.58% (12)	31.58% (12)	26.32% (10)	10.53% (4)	0% (0)	2.16	0.99	0	38	
Lear	ning how to fin	ıd, evaluate, aı	nd use resourc	es to explore	a topic in depth					
Α	8.33% (1)	33.33% (4)	8.33% (1)	33.33% (4)	16.67% (2)	3.17	1.28	0	12	
В	17.86% (5)	17.86% (5)	21.43% (6)	35.71% (10)	7.14% (2)	2.96	1.24	0	28	
С	39.47% (15)	28.95% (11)	21.05% (8)	7.89% (3)	2.63% (1)	2.05	1.07	0	38	
Gain	ing a basic un	derstanding of	the subject (e	.g., factual kn	owledge, methods, principles,	general	izations, the	eories)		
Α	0% (0)	25% (3)	16.67% (2)	41.67% (5)	16.67% (2)	3.5	1.04	0	12	
В	10.71% (3)	17.86% (5)	28.57% (8)	28.57% (8)	14.29% (4)	3.18	1.2	0	28	
C	34.21% (13)	28.95% (11)	23.68% (9)	13.16% (5)	0% (0)	2.16	1.04	0	38	

Describe the frequency of your instructor's teaching methods.

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses
Help	ed students to	interpret subj	ect matter fron	n diverse persp	pectives (e.g., different culture	es, religi	ons, gender	s, politica	l views)
Α	8.33% (1)	41.67% (5)	8.33% (1)	25% (3)	16.67% (2)	3	1.29	0	12
В	21.43% (6)	7.14% (2)	25% (7)	28.57% (8)	17.86% (5)	3.14	1.38	0	28

	Hardly Ever	Occasionally	Sometimes	Frequently	Almost Always	Mean	Standard Deviation	Did Not Answer	Total Responses		
С	28.95% (11)	34.21% (13)	21.05% (8)	15.79% (6)	0% (0)	2.24	1.04	0	38		
Enco	uraged stude	nts to reflect o	n and evaluate	what they hav	ve learned						
Α	8.33% (1)	16.67% (2)	33.33% (4)	33.33% (4)	8.33% (1)	3.17	1.07	0	12		
В	17.86% (5)	7.14% (2)	35.71% (10)	17.86% (5)	21.43% (6)	3.18	1.34	0	28		
С	15.79% (6)	23.68% (9)	28.95% (11)	23.68% (9)	7.89% (3)	2.84	1.18	0	38		
Crea	Created opportunities for students to apply course content outside the classroom.										
Α	8.33% (1)	25% (3)	33.33% (4)	25% (3)	8.33% (1)	3	1.08	0	12		
В	28.57% (8)	25% (7)	10.71% (3)	25% (7)	10.71% (3)	2.64	1.39	0	28		
С	34.21% (13)	28.95% (11)	26.32% (10)	10.53% (4)	0% (0)	2.13	1	0	38		
Prov	ided meaningf	ul feedback or	students' aca	ndemic perform	nance						
Α	8.33% (1)	33.33% (4)	8.33% (1)	41.67% (5)	8.33% (1)	3.08	1.19	0	12		
В	17.86% (5)	17.86% (5)	21.43% (6)	25% (7)	17.86% (5)	3.07	1.36	0	28		
С	23.68% (9)	21.05% (8)	26.32% (10)	21.05% (8)	7.89% (3)	2.68	1.26	0	38		

	Definitely False	More False than True	In Between	More True than False	Definitely True	Mean	Standard Deviation	Did Not Answer	Total Response
Whe	n this course	began I believe	ed I could mas	ter its content					
Α	0% (0)	16.67% (2)	33.33% (4)	33.33% (4)	16.67% (2)	3.5	0.96	0	12
В	10.71% (3)	17.86% (5)	25% (7)	39.29% (11)	7.14% (2)	3.14	1.12	0	28
С	5.26% (2)	15.79% (6)	31.58% (12)	31.58% (12)	15.79% (6)	3.37	1.09	0	38

Desc	cribe your attitud	des in this cours	se.						
	Definitely False	More False than True	In Between	More True than False	Definitely True	Mean	Standard Deviation	Did Not Answer	Total Responses
Α	8.33% (1)	16.67% (2)	16.67% (2)	50% (6)	8.33% (1)	3.33	1.11	0	12
В	10.71% (3)	21.43% (6)	32.14% (9)	25% (7)	10.71% (3)	3.04	1.15	0	28
С	5.26% (2)	23.68% (9)	36.84% (14)	26.32% (10)	7.89% (3)	3.08	1.01	0	38

С	0% (0)	13.16% (5)	60.53% (23)	26.32% (10)	0% (0)	3.13	0.61	0	38			
В	3.57% (1)	14.29% (4)	46.43% (13)	32.14% (9)	3.57% (1)	3.18	0.85	0	28			
Α	0% (0)	8.33% (1)	8.33% (1)	66.67% (8)	16.67% (2)	3.92	0.76	0	12			
Amount of coursework												
	Much Less than Most Courses	Less than Most Courses	About Average	More than Most Courses	Much More than Most Courses	Mean	Standard Deviation	Did Not Answer	Total Responses			
Com	pare this cours	e with others ye	ou have taken	at this institution	ı.							

This course helped me better understand Christian beliefs and values to the content area of the course.											
	Strongly Disagree	Disagree	Neutral	Agree	Strongly Agree	Mean	Standard Deviation	Did Not Answer	Total Responses		
Α	16.67% (2)	33.33% (4)	0% (0)	50% (6)	0% (0)	2.33	0.75	0	12		
В	0% (0)	25% (7)	0% (0)	57.14% (16)	17.86% (5)	2.93	0.65	0	28		
С	2.63% (1)	26.32% (10)	0% (0)	65.79% (25)	5.26% (2)	2.74	0.59	0	38		

This course helped me apply Christian beliefs and values to my life and work.											
	Strongly Disagree	Disagree	Neutral	Agree	Strongly Agree	Mear	Standard Deviation	Did Not Answer	Total Responses		
Α	16.67% (2)	25% (3)	0% (0)	58.33% (7)	0% (0)	2.42	0.76	0	12		
В	0% (0)	21.43% (6)	0% (0)	67.86% (19)	10.71% (3)	2.89	0.56	0	28		

This	This course helped me apply Christian beliefs and values to my life and work.											
	Strongly Disagree	Disagree	Neutral	Agree	Strongly Agree	Mean	Standard Deviation	Did Not Answer	Total Responses			
C	2.63% (1)	31.58% (12)	0% (0)	57.89% (22)	7.89% (3)	2.71	0.65	0	38			

In relating to students in the course, the instructor exhibited Christ-like character and conduct.											
	Strongly Disagree	Disagree	Neutral	Agree	Strongly Agree	Mear	Standard Deviation	Did Not Answer	Total Responses		
Α	8.33% (1)	8.33% (1)	0% (0)	33.33% (4)	50% (6)	3.25	0.92	0	12		
В	3.57% (1)	3.57% (1)	0% (0)	39.29% (11)	53.57% (15)	3.43	0.73	0	28		
С	2.63% (1)	2.63% (1)	0% (0)	55.26% (21)	39.47% (15)	3.32	0.65	0	38		